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Answer any five questions
All questions carry equal marks

l.a)  Construct a hyperbola when the distance from focus is 70. mm and. -eceentricity. is.
~ 3:2. Draw normal and tangent from a point 20 mm above the axis.
b) A circle of 50 mm diameter rolling on a plain ground for one complete revolution.
Trace the path of a point on the circumference of circle W1th0ut sllppmg [7+8]

2.213 ~ Aline AB 70 mm long is in H.P such that one end A is IO mm in front of V.p and

- other end is 40 mm in front of V.P. Draw the projections.
b) A line AB 80 mm long has its end A is in HP and 15 mum in front of V. P.1tis 350

to H.P and 50° fo V P. Draw the? proggchons and find. the traces. [7+8]
3. A Hexagonal prism of ?fO mn’f \ide a)us 70 mm is resting on one of its base
edges.in H.P and. mclmed At 300 V;P Its- axis makes an:angle of 500 with H. P
Draw the projections.-, E— = [15]
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4. A cylinder of SOammm\dIametel and height 7 ¢m. is resting on 1ts base in H.P. It is

cutby a. sectmn laneaperpendlculal to V.P, inclined at30° to HiP and passes

- through Ieftf o c*\rner of mgcylihder Draw the development of the lateral -

surface of thg cut cyhnﬁ& \,‘\ ya o 7 [15]
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5. A square prlsm of base 31de ‘30 mm he1ght 120 mm is restmg on 1ts base in H. P _-

- such that all the edge% ‘of.the base are equally inclined (o V.P, it is penetrated by
~ - another square prism.of 30.mim side 120 mm length, such that axis is parallel to
H.P and V.P and all the edges are equally inclined to H:P. Draw the prolections

showmg the lines of i intersection. “[15]

- 6. A Sphere of 30 mm diameter is placed centrally on the top of frustum of square _ |

pyramiid of top face side 40 mm. bottom face side 60 mm and height 60 mm.
Draw the isometric projection of the combination. [15]

7. A rectangle of 50 mm x 30.mm sides lies on the ground. The corner nearest to.pp

is 15 mm behind it and an edge containing that corner is making 30° with pp. The
station point is 30 mnrin front of pp, 50 mm above GP and lies in a central plane -
passing through the mid-point of the rectangle. Draw the perspective projection

of the rectangle. [15]-
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8.

" Draw front view, top-view and side view for the component shown in figure. All
dimensions are in mm. L [15]
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